QR Tt iy
¥W4 | R6 =t ISR L R - T R AER (3) E TARRRGERS
HOH s A e R
HEH - TR - R - Bikk HAL Gl e (4 H R e
s A e ] R
= 1
T E WA 33 H)
= 1
7 1 g
= 1
& 11 A TN B : 6mATil
& 8
7 I Y FEAENE B 6mLA_E10mA
& 12
7 1 Y FEUENE B 10mEL_F20m AR
& 5
BIGREERE & D Wi EHERL
= 1
BIGREERE & O W als Bk [E 224 - Pk et - i
PR 3
TEH AR
= 1
TEH R FRYENG B - 6mAY AR 54 X 10m
I
& 5
TEH R FEYENE B A, IR 10& 8 215
mEl
& 1
- e U




HEIRIER

EBA | R6 = ZISHMAS LR R - M fRRARES (3) E TOREE RS
H H e SVt

THH - AR - AlR - A B HLAL Kk (Fiml) g (4D K RS

TE W AR HEYENRE B 6Ll L 10mRi . R 5%
Bz 10mLL T
L5 6

TEH SR EAEE S 6L F1omdll. BE:10%
B Z 15mLL T

TE R FEYENE B 1000 _E20mAT, R 5%
Bz 10mLL T

TE W R FEAENE 5 6mAT . AGR 156 % 220
mPA T

TE SR FEYENG B 6mAT . &R 50& 210
OmLL R

TE SR FEUENG B 6mPL F10mASTE ., 1R 20
AR 2 30mLL T

TE W R HEYENR B 6mPL_F10mATE ., #EER 30
% #8 Z2 50mLL T

TE SR FEHENE 5 6mPL b 10mATH . & E 50
& 2 100mLL T

T AR EAERE 5 6mbL E10mA , K1 100
%A 2. 200mEL T

TE W AR FEYENR B 10mPL F20mATil . fEE 30
% #8 Z2 50mLL T

TEH AR FEHENE 5 10mPL F20mATi . &R 10
0% 8 2.200mLL

=
N
Jjm



QR Tt iy
¥W4 | R6 =t ISR L R - T R AER (3) E TARERE S
H OH s A e R
HH - AR - FR - A5 Bikk HAL Gl e (4E) H R LES
s EERK
= 1
G EAERL
& 25
H&EbhE
= 1
EAREncA S
e 1
EL AR A
= 1
B2
= 1
B R ERCE
= 1
BT RO E R (R
= 1
RE Bk v T AT A
= 1
ek i PIT AT A YRR T - R - Al R B
7| MR A
& 1
Bt B2 O 2 28 0 )
= 1
g i pe U




A A = ‘//\
éi JEE :J: %i’%
¥EWA4 | R6 =2+ ZISHAA LRl SR - PEEM BRAMRES (3) ¥ M= TR B
H H B
EHE - A - AR - R Hirk HAT o (RiED Sz (4mE) B e
Mt B8 (R R FEYENS B : 6mA, f&& 5% % 10m
e
H 0.99
Hitlide B (R EH A FEYENR B 6mA, &1 104 #8 2 15m
BAF
H 0.34
Hitiae B (R E W A FEYENR B 6mPL b 10mASTH, #6515 %
Bz 10mLL T
H 0.7
Mt B8 (R R FEYENE B 6mPL_E10mATH, #FE:10%
Bz 15mPL T
H 0.72
Hitliae B (R E 8 A FEYENR B 10mPL_E20mAT, W5 5%
B Z 10mLL T
H 0.72
Hitliae B2 (R E W A FEYENG B 6mA, &% 154 #8 2 20m
e
H 0.36
Mt BB (R R FEYENE B 6mPL_E10mATH, /G :20%
Bz 30mLL T
H 0.42
Hitiae B (R E W A FEHENE 5 6mPL - 10mATH;, {6 R 1304
Bz 50mLL T
H 0.5
Hitide B2 (R EH A FEHENE 5 6mPL - 10mATH;, 6 R 1504
Bz 100mLL T
H 0.68
Mt B8 (R R HEYENE B - 6mPL_E10mATE, #548:100
B 2200mPL T
H 1. 06
Hitide B2 (R E W A FEUENE 5 10mPL_20maAd, #5130
%z 50mEL T
H 0. 59
-4 - %l:m%/a\




AR FLR
¥W4 | R6 =t ISR L R - T R AER (3) B TARERE S
| [EREIES
HHH - LR - FER - AR Bk HAL KR (gila)) R (4[E) KR LS
e Bt (R 2 ) EYERE 2 - 10mPA_E20mAdH, 165100
%l 2. 200mEL T
E 1.44
s Bt (R i) BT-300 : A f4H%
H 1
gt Bt (R 7 i) BT-300 : #E1%
H 1
e Bt (R 2 ) 7e=7- AR R : 58 A
H 1
s Bt (R i) %@ﬂ’ﬁ%iﬂ’ﬁ%ﬂﬁ%lzm) TN
E 0.5
s Bt (R i) TR E (fEEKE 12m) « HEIHE
A 0.5
LA (R E ) A
= 1
AR A (M)
A 5
A2 A (B)
A 23
PRZz ELHE A2 X 5%
= 1
B (2 OMUEARER <)
= 1
5. 1




AR FLR
¥W4 | R6 =t ISR L R - T R AER (3) B TARERE S
| [EREIES
HHH - LR - FER - AR Bk HAL KR (gila)) R (4[E) KR LS

Z DAFAT

= 1
— R

= 1
AR F S A

= 1

P 1




